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N i - 1200 1000 800 600 400
AR, T, (1708 1 0.673 |0.100 0.202 0.138 -0.028 -0.523 -2.775
1B E e ; 6ot |60 kg 4 0.593 |0.530 1.054 1.141 1.258 1.417 1.570
Lol n B i 9 0.376 |0.658 1.163 1.256 1.3917 1.602 1.962
- . 1 0.678 |0.147 0.340 0.314 0.227 -0.074 -1.501
~rBIEASY tf‘i/%ﬁ 50 kg 4 0.565 |0.555 1.055 1.141 1.261 1.434 1.658
1 o 8RR GREFUINT PS 9 0.327 |0.666 1.135 1.222 1.350 1.552 1.911
T ERENG 15T L (971-6 1 0.675 |0.257 0.562 0.595 0.623 0.609 0.277
30 kg 4 0.480 [0.604 1.019 1.095 1.206 1.377  1.641
ASCE 9 0.187 |0.675 1.040 1.110 1.214 1.382 1.698
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